| Efficiency vs Dxy |

> 0.2
<

© r : :
00185 b
> : E

YV LI E NS S
2 C 5

2 0.14- o o
51 SRS SRR
O | R R
0.08F e
0.06F- ; ......... ; .....

=
(5]

Y 7| R S T
0.02F oo oo

..........

..........

....................................

J_.\.Q_lllll

510 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

0.5

dz

—— DQM_pixelCPETemplateCutChiSquareNew5_step2_ttbar-phasel-newgeom

377 SN NN RS S S —

fficiency

O
N e

o : : : : :

6 R IR S S

T S ——

175U SIS N ———

05 de

O

R e

OIIII;

Ratio

........

T ;

&

-

3
»
o

=

o

2030
TP dz (cm)

10



	Contents
	Page 1


